Answers to Station 3 - Triangle Congruences (ID: 1)

1) SAS 2) HL 3) AAS 4) HL

5) ASA 6) SAS 7) SAS 8) AAS

9) AAS 10) HL 11) IH=VW 12) £i=2Q
13) WW=WP 14 KJ=DJ] 15 £G=/V 16) MN = ST
17) JK = 4B or L = C4 18) ST = ED 19) 2JHI = £FHI

20) Q=T




25 Given: AB=TT, £ARD= £ DB

26. Given: PRaTR, cP=sT
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7. Given: TH=ND, and £zM=20
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Prove: aMPL=aNPO 0
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" Given: PQ=30, QR=ST, and PR=TO
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Prove: aPQR=AUST
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Given: C is the midpoint of BE, £B=<E, and
AB=DE
A B

Prove: AABC=ADEC

Statements | Reasons

1, £B8=LE 1, Grdne
2. AB=DE 2 Conges
3Ll B E 3. Given
4B ¥ £S 4, Midpeint
5. AARC=ADEC 5.5A%
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Given: AB=DC

A D

Prove: AABC=aACDA

Statements | Reasons
14 = DO 1. Given
2 KC=AT 2. Refrexivd
3. AABC=aCDA 3 %L

10, Given: N is the midpoint of M0, [Mz0F, and

LN=PN
] N 0

Prove: ALMN=APON

Staterments | Reasany

1. m 6_}7 1, Given

2, TH=FR 2.
3. N is the Midpoint of MO 3.%11vcn

4. N T o 4, Midpoint

5. 558
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12. Given: QT bisects 5P, SP bisccts QT
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2. QT bisects 5B 1, Given
2. 50 % &T, 2. Given
3, BE=TR 3. Definition of Bisect
4. PR=SR 4. Ref of B

5L €P 2 L TR 6, Vertical Angles
6. aAQRP=ASRT 6. S{&‘S




